/DVIRB

3UDFRZQLN 5RINiDG SURI 8-" 6QDUVND ODJGDOHQD 7\J

o
0]
=
n
oD
-0
AN
5\VXQHN X]XSHiQLDIgFD SUDFRZQLD G\SIRPRZD (DE
DGLXQNI YUgF]HN %DUIRV] DGLXQNI ~DNXERZVNL -DNXE | 7™
DGLXQNI 64RID =DUXV] PJU = DUZDV -XVINQD SURI
8- 6QDUVND ODJGDIHQD = DZUINLHZLF] $UIXU = .216
- - : : - % 0| |/87%
> / 2:z$0/ -z$00 = ::%$00 &-(
T = :-:$00 6= -$7(
§ 35%$&2:1,%, SURI 8-" ODJGDIHQD 6QDUIVND ng s
N 35%$&2:-1,%,, DG "DUXV] 6RID 35%$&2:-1,% 567 -
— ., GU -DNXE -DNXERZVNL PDU]HF PDIl $ SUFEI
T FIHUZIHF JRGILQ\ PJU SUIXU g
= DZUINIHZIF] PDUJHF  NZIHFIHE PDI 6QI5UV
FJHUZIHF JRGJIQ\ (USFD 35%$&2:-1,%$,9 ND
DG %DURV] )UaFJHN ~ PDUFD  NZIHIQID ODIGD
FJHUZFD  JRG]LQ\ PJU -XVINQD = DUZDV PDUFD 1HQD
NZIHIQD ~ FJHUIZFD  JRG]IQ\  (LSFD -
PJU-DJRGD = RTQ\ PDUFD PDID -
FIHUZFD
AN AN
S\VXQHN X]XSH:QIDIaFD SUDFRZQLD G\SIRPRZD IDE | |.216/87$&-( -$7("5%
DGLXQNI )UgF]HN %DUIRV] DGLXQNI -DNXERZVNL -DNXE 0$/$567:-$ SIRI 8-~
DGLXQNI 6¢RID =DUXV] PJU = DUZDV -XVINQD SURI 6QDUND ODJGDIHQD =
8- 6QDUVND ODJGDIHQD = DZUINLHZLF] $UIXU =
2:z$0/ 2:z$0/ -z$0/:0
--$00 6= :-:-$00 6=
-:2$00 6=
Z DICFID Z SlgINLRG  PDUFDGR ~ NZIHIQID  JRG]IQ\
(% 2G PDID FJHUZFD JRG]LQ\  USFD JRG]LQ
] 35%$&2:-1,%, SURI 8- ODJIGDIHQD 6QDUVND
n 35%&2:-1,%,, DG "DUXV] 6RID 35%$&2:-1,%
., 35%$&2:-1,$,, PJIUSUXU = DZUINHZLF]
PDU]HF PDUFD  JRG]JIQ\ PJU
ODIHXV] 3DZHiF]\N PDUFD  JRG]LQD NZIHFIHE
JRG]LQ\ PDI FJHUZIHF
USHF ~ 35$&2:1,$.,9 DG %DUIRV] )UgF]HN
PDUFD PJU -XVINQD = DUZDV PDUFD
NZIHIQLD FJHUZFD  JRG]JIQ\  (ISFD PJU -DJRGD
- RTQ\ PDUFD PDID  FJHUZFD
F]JHUZFD  JRG]IQD
o
o




